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Exponents – Mixed Practice Worksheet 1 
 
Simplify the expression. Do not leave any negative exponents in your final answer.  
 
 
1.   𝑥4 ∙ 𝑥7 
 
 

3.   
514

58
 

 
 
5.   (3𝑥9𝑦3)2 
 
 
7.   𝑎−5 ∙ 𝑎−11 
 
 
9.   (156𝑢24𝑤4)0 
 
 
11.   (−𝑎3𝑏5)7 
 
 
13.   (2𝑦4)3(5𝑦6)2 
 
 

15.   (
50𝑥6

2𝑥3
)
2

 

 
 

17.    
𝑎5𝑏2

4𝑏
∙
16𝑎9𝑏4

𝑎3𝑏7
 

 
 
 
19.   (3𝑎2𝑏6)2(3𝑎10𝑏4)3 
 
 

2.   2𝑥6 ∙ 𝑥11 
 
 
4.   (5𝑝4)3 
 
 
6.   (2𝑚)−4 
 
 

8.   
25𝑥9

5𝑥12
 

 
 
10.   (5𝑥5𝑦4)2 
 
 
12.   (2𝑥5𝑦)(3𝑥4𝑦7) 
 
 

14.   (
10𝑥9

𝑥18
)
−5

 

 
 
16.   (8𝑘2𝑗12)2(4𝑘−4𝑗3) 
 
 

18.   
9𝑥7𝑦3

𝑥𝑦
∙
2𝑥6𝑦8

3𝑥3𝑦4
 

 
 

20.   (
5𝑎10𝑏5𝑐22

15𝑎−2𝑏14𝑐11
)
3
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Exponents – Mixed Practice Worksheet 1 Answers 
 
Simplify the expression. Do not leave any negative exponents in your final answer.  
 
 
1.   𝑥4 ∙ 𝑥7 = 𝑥11 
 
 

3.   
514

58
= 56 

 
 
5.   (3𝑥9𝑦3)2 = 9𝑥18𝑦6 
 
 

7.   𝑎−5 ∙ 𝑎−11 =
1

𝑎16
 

 
 
9.   (156𝑢24𝑤4)0 = 1 
 
 
11.   (−𝑎3𝑏5)7 = −𝑎21𝑏35 
 
 
13.   (2𝑦4)3(5𝑦6)2 = 200𝑦24 
 
 

15.   (
50𝑥6

2𝑥3
)
2

= 625𝑥6 

 
 

17.    
𝑎5𝑏2

4𝑏
∙
16𝑎9𝑏4

𝑎3𝑏7
=

4𝑎11

𝑏2
 

 
 
 
19.   (3𝑎2𝑏6)2(3𝑎10𝑏4)3 = 243𝑎34𝑏24 
 

2.   2𝑥6 ∙ 𝑥11 = 2𝑥17 
 
 
4.   (5𝑝4)3 = 125𝑝12 
 
 

6.   (2𝑚)−4 =
1

16𝑚4
 

 
 

8.   
25𝑥9

5𝑥12
=

5

𝑥3
 

 
 
10.   (5𝑥5𝑦4)2 = 25𝑥10𝑦8 
 
 
12.   (2𝑥5𝑦)(3𝑥4𝑦7) = 6𝑥9𝑦8 
 
 

14.   (
10𝑥9

𝑥18
)
−5

=
1

100,000𝑥45
 

 
 
16.   (8𝑘2𝑗12)2(4𝑘−4𝑗3) = 256𝑗27 
 
 

18.   
9𝑥7𝑦3

𝑥𝑦
∙
2𝑥6𝑦8

3𝑥3𝑦4
= 6𝑥9𝑦6 

 
 

20.   (
5𝑎10𝑏5𝑐22

15𝑎−2𝑏14𝑐11
)
3

=
𝑎36𝑐33

27𝑏27
 

 
 


